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#include<cmath>

I IS A T




R TVAYE R

#tinclude <cstdio> %T@Eﬁ%%ﬁé/ HEE AT  AEEANK
#include <cmath>/*5|FREE K T */ AWSHL - mEHEARY -
int main(){ R o LETE 900 A 1R
= Sy mAR T
(% 26" sart(500.0) 90002 sqart) 143181 - SRR
cout PRIV BOI LI ER 8 - SR EESRT -
return 0;) MNERcl1=14.0,d=2.0, f=4.0095% :

prntf( “%.2f" ,sqrt(cl+d*f))
o] PIETEWHEIH14.0+2.0+4.089F AR -

&% =E5.00
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#include<cmath>

S BRRIBLR OB R RV AL 2double - doublefifloatRyEZE(EL -
o] PUHE A %If(long float) 48 =\ 83 #2557 BR 5 &) 11
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floating point number

sqrt( x ) sgrt( 200.0 ) 1is 30.0
square root of x cart¢ 9.0 is'3.0
exp( x ) . : exp( 1.0 ) 1is 2.718282
exponential function e* exbC 2.0 5 12 7.389056
Tog(C x ) . log(C 2.718282 ) 1is 1.0
1;;1tural logarithm of x (base 1o9¢ 7.389056 5 is 2.0
ToglO(C x ) : loglOC 1.0 ) 1is 0.0
logarithm of x (base 10) 16910¢ 10.0°) 3s i.0
Togl0C 100.0 ) 1is 2.0
fabs( x ) fabs( 5.0 ) is 5.0
absolute value of x fabeC 0.0 3 12 0.0
fabs( -5.0 ) 1s 5.0
ceilC x ) rounds x to the smallest Ce'q ¢ 9é28) is 10(_5)00
integer not less than x cell -9.8 ) 1s -9.
floor( x ) floor( 9.2 ) 1is 9.0
Founds x to the largest floor -9°8°) 31s -10.0
integer not greater than x
pow(C X, vy ) : Vv pow(C 2, 7 ) 1dis 128.0
x raised to power y (x") Pow¢ 0. '57y'3s73%0
fmod( x, y ) : fmod( 13.657, 2.333 ) 1is
remainder of x/y as a 17997

sin( x )

trigonometric sine of x
(x 1n radians)

sin(C 0.0 ) is 0.0

cos( x )

trigonometric cosine of x
(x 1n radians)

cos( 0.0 ) is 1.0

tan( x )

trigonometric tangent of x
(x 1n radians)

tan( 0.0 ) 4s 0.0
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#include <iostream>
#include <cmath>

int main() FEAUERZR -
{ [ O
double x,y; R EXEy R
cin>>x;
while(x!=0){ ®
cin>>y; o
cout<<(int)pow(x,y)<<endl;
cin>>x;
}
return O;



#include <iostream> *gul—l%ﬁ-% ’ aam%ﬁﬁﬁuﬂ !

#include<cmath>
int main()
{
int x,y,t,count;
cin>>x;
while(x!=0){ ELEE]pow()
cin>>y;
t=1;
count=1; ‘
while(count<=y){ ®
t=t*x;
count=count+1;
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cout<<t<<end|;
cin>>x;

}

return O;
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Hinclude <iostream>
H#include <cmath>

(e SRR
double x.y; A . G 4E R
Cins>>x: double#&f
while(x!=0){ Int

cin>>y;
cout<<(int)pow(x,y)<<endl; °
cin>>x;
}
return O;
}



